i

~ 3700mm
. 3500mm

1 g’

DRIVE RAIL

-

DRIVE RAIL HANGER
DRIVE UNIT

CONCRETE WALL

i R DRIVE RAIL

CONCRETE WALL

ENGAGE
DISENGAGE

._.O<<mzm ARM
- MTRL: zinc-plated ste
_..Amm mm

RELEASE CORD WITH HANDLE, LENGTH IS CUT TO
FIT HUMAN ARM REACH HIGHT.

DETAIL F
DOOR ARM & HANDLE

75+45x40x3mm THICK 90° ANGLE STEEL OOZZWHO._.mU TO STEEL ROOF TRUSS OR CONCRETE

CEILING FASTENED WITH TAPPING SCREW Im& M8*60
- WITH M8 NUT LOCK OTHER WILL BE FIXED |
- TO THE BRACING STEEL FRAME

(SUPPLIED BY twinBAU)

m\ SCREW M6*75 (2 PCS)

SOCKET PIECE

600x45x1.8mm THICK ANGLE STEEL
FASTENED WITH M8*16 SCREW PAN HEAD
WITH M8 NUT 2 PCS ON EACH JOINT.

' DRIVE RAI

HANGING BRACKET

CONTROL BOX

- TX6 OPENER _.._m>U HANGER

rd
A&

g 3 i
I o -
b , ) Loggia 4
CANTROL BOX HEADER BRACKET HANGING BRACKET -
- CLOSE LIMIT PRONG OPEN LIMIT PRONG RAIL CHAIN |
B 5 , : Qsﬁm
. oal m R rﬂmg * > ~
| I &W u@v Kichen
o <RI annnn = < )
P T oo
BRI ANCHOR SCREW M8"60 ~ LIMIT PRONG LOCK SCREW i | 3] = E.9
oz_, i skl § ] ,Zm.:m:w,wﬁ ,,
CONCRETE WALL t Gt ,83
| Elec. @) ity Bed Room-4
GROUND FLOOR PLAN
DETAIL G
w AUJL =N W« GARAGE DOOR
. 1 REV.4 14 /08 /2012 §
SIN. | DESCRIPTION/ISSUE DATE
RECEIVER EMITTER :
PHOTO ELECTRIC SENSOR L
- POWER SOURCE 12 V N e , , ,
WIRE FOR PHOTO ELECTRIC SENSOR PROJECT
ToDB-G w - (0.5 mm2 x 4 cores cable wire )
TX6 OPENER WITH INTEGRATED
| TIMER FUNCTION WITH A
LOAD CONSUMPTION
MAXIMUM OF 120WDC TTS
; G JUMEIRAH PARK 2 & 2A }
- 3"4.0mm? single core cables ‘ | §
20AD.P. Switch (W.P.) TX6 OPENER e IVIF T ,
| , CONTROL BOX The V,__ R 6 mot _ T RO
e viias using Motor. CLIENT 5
, =g w NAKHEEL
TX6 MOTOR PHONE. '+ ‘57143003388
— i dar athandasah FAX : + 971-4-3003335
Villa No. fj svorend P e WebSite : www.nakheel.ae
+ , e L —— s 0 E - MAIL :info@nakheel.ae
A4V | 1~44 t eoos” MMMMMMS asNOTED | NAKHEERL
‘ O CODE?2 ROCEED SUBJEC , -
~ POWER CABLE 2.5 mm2 x 3 cores B4V 1~28 ﬂwmwmm%% OF ENGORSED | |
(PROVIDED BY twinBAU) v A5 | cooss nesumaTEORAETROUA  CONSULTANT dar al-handasah
, i WORK MAY NOT PROCEED - , - , _J l _.|
C4vVv 47~62 ,nomm» REJECTED _ s aral-handasah shairan pArknars
D4V 1~50 B _— PL0,BOX: Soiad. BUBKS U
~ g ‘ .“ + -
TERMINATION BOX ; .ww.wd.ﬂdmﬂtxs | , | FAX amaacmo%% - 4 - 33353121
TO MAIN POWER 230 VAC 50Hz E4V i 1~62 o e e S %éégw | : :
= sbiigations under 1ne oocama otaq %osszsto
Fav. 1~28 ,ﬁm,@,wo%% masasinns || MAIN CONTRACTOR
: OL./\ , ‘_ .(\_N - nooasa,g with 9333%« ; | | |
Ty Br " Pro: @&m @ PAULING MIDDLE EAST CO.L.L.C.
Y e .0.BOX : ., ABU ,UAE.
Jav 41-56 @,.@3 M| == "0.80X 46170 A8 DG A
—l A.< , , , \_‘(Nm - " AT PAULING @grmmxﬁ Gl Lt B FAX N ,mj -2 .mwmmmmw
| B G ~ E-MAL : pauling!@enirates net 2e
Y w ; o o , Lo |
Um.—.>=| H : = mcm OOZ._._&PO.—.ON
._.Xm OPENER WIRE DIAGRAM ,
2<_:W>C m.c__a_:@
‘gwmgé , Materials Trading
7 DARAL HANAsH
m_um@_m_oz._oZ SRk
1. C+ -4 -3415
TECHNICAL EXPLANATIONS : INSTALLATION:

REQUIREMENTS OF CUSTOMER:
1:ALL FIXATION, INSTALLATION INCLUDING NECESSARY
SUPPORT-FIXTURES ARE PART OF THIS OFFER
2:CEILING FIXATION-SUPPORT PROVIDED BY twinDOOR
ACCORDING EACH GARAGE'S FINAL DIMENSIONS (WITH
REFERENCE TO MAIN CONTRACTORS DRAWINGS)

1:DOORS ARE BEING PRODUCED TO DIMENSION AND
CONSTRUCTUAL CONDITIONS PROVIDED BY MAIN
CONTRACTOR AND DISCUSSED WITH twinDOOR,
twinDOOR WILL IN RETURN DISCUSS ANY DISCREPANCY
AND DISCUSS CHANGE IN DESIGN WITH MAIN
CONTRACTOR

HINGES! CATAPOLYSIS HINGES

SPRING SYSTEM: EXTENSION SPRINGS VERTICAL
TWO SPRINGS AT BOTH SIDES WITH COLOR CODING:
RED EXTENSION SPRING (60N/m)

YELLOW EXTENSION SPRING (75N/m)

HARDWARE: twinDOOR twD-2000 B HARDWARE
OPERATOR: twD TX6(1000N)

UNITS:
ALL LENGTH-UNITS IN [mm]

A An. TG

twinBAU|

E - MAIL : twinbau@twindoor.eu
DRAWING TITLE |
SECTIONAL OVERHEAD GARAGE DOOR
( WIRING DIAGRAM & DOOR STRUCTURE DETAILS
FOR TX6 MOTOR )
DRAWN CHECKED APPROVED
DZ AL
REV. SCALE SHEETS
4 NOT IN SCALE 7 OF 8
DRAWING NO.
PME/JP/AB/
80170002-2800/2500
DOOR SUPPLIER twinDOOR |




